HDFIN 3118

 [image: image1.jpg]AND

TECHNOLOGY FOR DEVELOPMENT





W1-2-60-1-6

JOMO KENYATTA UNIVERSITY 
OF 
AGRICULTURE AND TECHNOLOGY
University Examinations 2014/2015
SECOND YEAR FIRST SEMESTER AND FIRST YEAR FIRST SEMESTER EXAMINATION FOR THE DEGREE OF MASTER OF SCIENCE IN FINANCE
HDFIN 3118:  FINANCIAL ECONOMETRICS 
DATE:  AUGUST 2015
  

  



    TIME: 3 HOURS
INSTRUCTIONS:   
ANSWER QUESTION ONE (COMPULSORY) AND ANY OTHER TWO QUESTIONS

Question One (30 Marks)
a)
Why do we require that a time series be stationary in order to apply ARMA modeling?










(2 Marks)

b)
Define the term financial econometrics and give an example of where and how you can apply it to Finance.







(3 Marks)

c)
Let {Xt :  t = 0, +1, +2, ……} be a time series given by Xt = a + bt + et where {et} is a sequence of independent N (0, 62) random variable Xt stationary?  (Show that 
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 is a 2nd Order Stationary.



(6 Marks)

d)
Given that 
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(5 Marks)
(i) Derive the least square estimates for estimating β1 and βo
(ii) Discuss any three (3) assumptions of the above model.

e)
State and briefly explain three (3) objectives of time series analysis.
(3 Marks)

f)
Define AR (1), show that it is stationary and obtain it’s autocovariance function.












(4 Marks)

g)
Suppose you were hired by a University to study the factors that determine whether students admitted to the University actually come to University.  You are given a large random sample of student who were admitted the previous year.  You have information on whether each student choose to attend, high school performance, family income, financial aid offered, ethnicity and geographical variables.

(i) Identify the dependent variable and independent variable.

(2 Marks)

(ii) State the statistical model that could be used to model the relationship between variable identified in (i) above.  Justify your response.

(2 Marks)

h)
Discuss four (4) components of a time series.



(3 Marks)
Question Two (20 Marks)
a)
A researcher investigated the relationship between Y, Volume (X1), area (X2) and Price (X3) of business text books in Kenya.  She collected a sample of N = 20.

The results are given below:
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Y = 107.6793 + 0.7086 X


(88. 3772)

(0.0975)  
…………….. models


R2 = 0.8026

SSE = 199700.9
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Y = 66.7036 + 0.0904X1 + 0.4439X2 + 0.3864X3

(80.1598)

(0.0376)

(0.1377)

(0.2666)


R2 = 0.8795

SSE = 121887


NB:


The figures in parenthesis are the standard errors for the respective parameters estimates.

(i) Given model 2, test alternative hypothesis that (X2) has a positive effect on the weight at 5% level of significant.  Explain the results.
(ii) Given model test the significance of volume (X1) at 5% level of significance.

(iii) Given the two model, test the null hypothesis that area (X2) and price (X3) taken together have no effect on the weight at 5% level of significant.

b)
The following data represented expenditure Y and its four main components for eleven years.

Y = 12.7302 + 1.9384X1 + 1.6239X2 + - 2.3213X3 + 1.1469X4
(6.0635)
(1.1680)
(1.7295)

(2.4648)
(0.8841)

R2 = 0.8551 where values in the bracket are standard errors.

(i) Estimate the total expenditure for X1 = 2.5  X2 = 1.5  X3 = 3.0 and X4 = 5.0









(1 Mark)

(ii) Test the significance of overall model at 5% level of significance.
(4 Marks)

(iii) Test the significance of the regression coefficient B4 at 5% level of significance and interprete your results.





(3 Marks)
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